= A
N = 0] &F AF S & AN A
20198 &= 20l AH LB H s o=
2AM: sl
MM sHI) s
e DEE SsMSMA JIsXE ALY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
sSI| = 1,873,155 2,600,369 NT27,214
= 202,900
g 250,000
= 30,800
Al 1,389,455
S 1,801,656 2,496,799 A 695,143
= 202,900
g 250,000
& 30,800
Al 1,317,956
& SMHSMA JI=sXE ALY 628,266 1,186,835 A 558,569
= 129,900
o 26,300
Al 472,066
LEEI ASWE SAAY 4,500 4,500 0
206 M = Hl 4,500 4,500 0
01 X2 H| 4,500 4,500 0]
=X ANSWE SA XM
1,500,000& *3ha 4,500
H 222 22014 WA 37,667 34,100 3,567
= 11,300
Al 26,367
402 SI2F 20| & 37,667 34,100 3,567
= 11,300
Al 26,367
03 QI2t/ EFAFSE HI 37,667 34,100 3,567
Ol 225 3212 XANHIA
37,667,000 =10 A 37,667
= 11,300
Al 26,367
sHIEESAY EeEIls Y s=AH0ILE A 6,470 5,770 700
201 gEt24Hy| 2,670 1,970 700
01 AP 2t 2] d| 2,670 1,970 700
O1 LBt=2H| 1,270
PsYHI=E22HOte 49 M
70,000& *13] 70
PsHII=sE2Hole EE2S MZE
10,0002 x1208 1,200
O6 &xa 1,400
Psgll=E3AIY Bolg 2dxs
700,000 «2CH 1,400
301 LBt A= 3,800 3,800 0
09 SHAIAHI B A2 3,800 3,800 0
Osgll=E22AMY "olg &I A BA
8,000 x100¢! 800




2N sI=sY
M sgIIsHe
Sl DEE SMBHN IENY AY (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O=geol st=AMOoILE Z2AMX ol 24
60,000& *50¢! 3,000
slles dsaE 40,829 42,665 A 1,836
201 £B-2dH| 15,869 17,705 A 1,836
01 At 22l 640 640 0
O1 Let==ZH| 640
POuEEge S 40,0003 *4CH 42 DI 640
02 =24l 15,229 17,065 A 1,836
O4 Xtgd el 15,229
DAEFAL(AEES) 3,416,000 »20H 6,832
DASRANH(SEEY) 3,993,000 = 1CH 3,993
PUERXH(SSUSEEE)
4,404,000& «1CH 4,404
202 O4dl 24,960 24,960 0
01 = LH 4 Hi 24,960 24,960 0
Ogsag FOH 2,080,000& x12& 24,960
AZTHaA A 2Y 11,000 11,000 0
201 Let2d] 4,000 4,000 0
01 At 22l 1,000 1,000 0
O1 get=EHl 1,000
DaZEelad 2Z =34l 1,000,000 14! 1,000
02 =224l 3,000 3,000 0
O3 A& & HlI s X bl 3,000
DS AEEH S
3,000,000& x14 3,000
206 = Hl 7,000 7,000 0
01 M Z 4l 7,000 7,000 0
Oz aels 29 M=H 7,000,000 14 7,000
=SB MHZII=XE 68,000 87,500 A 19,500
206 M= Hl 17,000 9,500 7,500
01 M= 4l 17,000 9,500 7,500
OO0ts =O0LTHEH A SAIE ALY
1,500,000 *4H 2~ 6,000
OAMEJN HAZEGH HL A5 AlY
1,000,000 *5H 4 5,000
OJtStEl 2==Al8 X AlEY
3,000,000& *20H 2 6,000
402 2I2H X201 M 51,000 78,000 A 27,000
01 2I2E 2 A B (RERTH ) 51,000 78,000 A 27,000
OJI=Hat tHE 20O D13 MSTHH AlIESH
20,000,000& *1JH 2 x60/100 12,000




AN sz
M =gIl=eg
Sl DEE SMBHN IENY AY (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OuF ouad zgad N
5,000,000 *5H 2«60/ 100 15,000
OXIetat M=o HAS ZoHHA 2FAE
1,000, 000& 2004 2 x60/ 100 12,000
OMZ2 = THEHAIE
10,000,000 *2JH 4 x60/ 100 12,000
s&= dols YHAE MY 160,000 160,000 0
402 RI2EX 20| ™ 160,000 160,000 0
03 BIZHR{EF AL HI 160,000 160,000 0
Ol goisgr (28830, =2Y) &M X
150, 000& *1,500ha*40/100 90,000
OH galis Mg (L)) LM AM X
60,000& *500ha*23] *50/100 30,000
OsY dols2H XA
50,000& *800ha*23] *50/100 40,000
SXEYHE WG 2% N 22,000 22,000 0
= 11,000
Al 11,000
101 @124l 2,000 3,000 21,000
= 1,000
Al 1,000
412 HZ22NSES 2,000 3,000 21,000
OgolE HE . JAHA2H LAASG 2
2,000,000& »14 2,000
= 1,000
Al 1,000
201 Let24d]| 10,000 10,300 A 300
= 5,000
Al 5,000
01 At 2teltl 9,000 8,800 200
O1 Let=EHl 9,000
DRUASSTEZTY HEANLY 29 =28
7,000,000 =104 2 7,000
= 3,500
Al 3,500
DYHMSLM ¥ sSlI=E=s 22 HME
2,000,000& » 14l 2,000
= 1,000
Al 1,000
02 =224l 1,000 1,500 A 500
O3 A& &b8ls Xl 1,000
DO EEH & watdsFHl Sl
1,000,000 14 1,000
=2 500
Al 500
206 = Hl 4,000 7,900 A 3,900
= 2,000
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el

=
=}
M =
L= B =}
i

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 2,000
01 =4l 4,000 7,900 A 3,900
OgoisedHM & AH2HAMN
4,000,000& =14 4,000
2 2,000
Al 2,000
405 XHoHF S HI 6,000 800 5,200
2 3,000
Al 3,000
01 et EZFH S 6,000 800 5,200
OEZII(BIolAARTED]) 6,000,000 = 1CH 6,000
= 3,000
Al 3,000
sHSdols 2822 29 N 6,000 6,000 0
= 3,000
Al 3,000
202 44l 2,000 0 2,000
2 1,000
Al 1,000
01 S LHOIYI 2,000 0 2,000
OsZ=sdols 222 29 ol
2,000,000& x14! 2,000
= 1,000
Al 1,000
206 = Hl 4,000 6,000 A 2,000
= 2,000
Al 2,000
01 MHZ 4l 4,000 6,000 A 2,000
OsX2Yis 2T 2 WE
4,000,000& 14! 4,000
= 2,000
Al 2,000
sASgolEs gL X 66,800 27,900 38,900
= 33,400
Al 33,400
206 = Hl 66,800 27,900 38,900
2 33,400
Al 33,400
01 M2 4l 66,800 27,900 38,900
OZdddis(sady) 400,000& *107ha 42,800
= 21,400
Al 21,400
OsgYais (=) 24,000,000 » 14! 24,000
= 12,000
Al 12,000
s AJl= AY 165,000 780,000 A 615,000
= 82,500




2A: sgI=
Bu: sedlsY
e DEE SsMSMA JIsXE ALY (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 82,500
402 SI2FAHE0| & 165,000 760,000 A 595,000
= 82,500
Al 82,500
02 CIZEXIEAIS B X (0| XM THL) 165,000 760,000 A 595,000
OHA Yiolls &SNz BE2AEY
25,000,000 =104 &~ 25,000
= 12,500
Al 12,500
OKdiItAN otEse HERSE ANSHXI B3
A& 20,000,000 =104 &~ 20,000
= 10,000
Al 10,000
O3stg 23 oel JSHYH Jl=ea AlY
20,000,000 =10 A 20,000
= 10,000
Al 10,000
OJE2KESHH D20 8)A JlH 2dR2=s
A& 100,000,000 =104 &~ 100,000
= 50,000
Al 50,000
A=SHEMWZIN=XNK(ZHI) 40,000 5,400 34,600
o=t 15,000
Al 25,000
402 SI2FXHE0| & 40,000 0 40,000
& 15,000
Al 25,000
02 CIZEXIEAIS X (0| XM THL) 40,000 0 40,000
O=Zd e ANEMA: 242 JlsAdY
50,000,000 14! %80/100 40,000
& 15,000
Al 25,000
MAHEY UL MSASML I 2T 419,776 617,728 197,952
2 50,000
Fag 150,000
& 4,500
Al 215,276
I gIESYE 29 7,776 7,432 344
101 Q124 4| 2,776 2,432 344
04 JI2ZtHIZ22NEES 2,776 2,432 344
Ol% s22g 29 o2y
69,400& 221 20! 2,776
206 M = dl 5,000 5,000 0
1 MHZ bl 5,000 5,000 0
O MA A L TR (LM ESR 8F)
5,000,000 =14l 5,000
XNg &g &5 )Xy 300,000 300,000 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e 150,000
Al 150,000
402 RI2EX=20| A 300,000 300,000 0
s 150,000
Al 150,000
02 QI EAISEZ (OIS ) 300,000 300,000 0
OFENA (T XNELEHRS |4 AY
300,000,000 =14l 300,000
as 150,000
Al 150,000
MEsR=s 24 JsX (=) 12,000 8,000 4,000
< 4,500
Al 7,500
402 RI2FX =01 M 12,000 8,000 4,000
< 4,500
Al 7,500
02 QI EAILSEZ (01X E) 12,000 8,000 4,000
OXEZE HA XNLRZ THHHAIE
15,000, 000% »1&+XI*80/100 12,000
< 4,500
Al 7,500
2U S48 2 UES E3(=HI) 100,000 0 100,000
= 50,000
Al 50,000
402 RI2FX=01 M 100,000 0 100,000
= 50,000
Al 50,000
02 QI EAISEZ (OIS ) 100,000 0 100,000
O=2U 84 2= MES B2
100,000, 000& 14 100,000
= 50,000
Al 50,000
IESE MB=sY JsES 357,536 347,720 9,816
= 23,000
Al 334,536
EYSEHIELY 29 7,050 32,000 A 24,950
201 Let24dH] 7,050 13,500 A6,450
02 =24l 7,050 9,000 A 1,950
O3 A& ZHl s Xl 7,050
DESAEY AEFEHIKX 7,050,000 14! 7,050
SE0IMES LM MAALE & 212,086 210,620 1,466
201 et 76,086 74,620 1,466
01 At 22l 6,650 6,100 550
O1 get=ZHl 5,600
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M sllsn

M sYII=HE

el MESE MYz JlesEs (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
PEAZ JIA 200,000& x6& 128 14,400
DEISAZA HEANSE 21,000,000 x14! 21,000
DaAEs JIAM 15,000, 000& 14! 15,000
TE 244 22 (2HIAY) 46,000 0 46,000
= 23,000
Al 23,000
201 L2l 18,900 0 18,900
= 9,450
Al 9,450
01 At 22l 8,900 0 8,900
O1 Let==EH| 8,900
DEetEAa 2,700
OANE SEMZ 1002 %15, 0000H 1,500
= 750
Al 750
OAHIXMEAN M2 4003 +3,000% 1,200
= 600
Al 600
DHY e =+5 550% 4,000 2,200
= 1,100
Al 1,100
PERABASY 248
1,200,0002 * 104 2 *23] 2,400
= 1,200
Al 1,200
DESEAY 2 EFULIH =2
400,000& *401 1,600
= 800
Al 800
02 8323l 10,000 0 10,000
O3 A& &l Xl 10,000
DAL Al EHHI KX
10,000, 000& * 14! 10,000
= 5,000
Al 5,000
206 T2 Hl 9,500 0 9,500
= 4,750
Al 4,750
01 =8l 9,500 0 9,500
OZEZEFY 29 M= 30,000& 505 1,500
= 750
Al 750
OXAHHLA 29 XM 8,000,000& =14l 8,000
= 4,000
Al 4,000
207 A O H| 17,600 0 17,600
= 8,800
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5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 8,800
03 A& & 24l 17,600 0 17,600
OSEHEY Ad8gAMY 50,000& 1005 5,000
= 2,500
Al 2,500
Osgzdd3y &g =X 100,000& 303 3,000
= 1,500
Al 1,500
OZEZEFY EHE IJtA 200,000 x4E«12& 9,600
= 4,800
Al 4,800
LEZOEE HEX NENE A AlY 2,000 2,000 0
206 = Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
OzEd 258 S HEsWE SAAYE M=
2,000,000& 104 & 2,000
HZ2EY0E ez 2 YL AlY 2,000 2,000 0
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
OHzZ=EE0E aad 3 HFda AIE N
=3 2,000,000 14 & 2,000
SE0M=SE2E A= SolLH A 3,600 3,600 0
206 M= Hl 3,600 3,600 0
01 =4l 3,600 3,600 0
ORESIM2E2E &2 HollZMAIE ME
3,600,000 » 14 3,600
ANERNT 2&d S8 SMAE 2,400 2,400 0
206 M= Hl 2,400 2,400 0
01 M= 4l 2,400 2,400 0
OANEZnIZ &8 SHLHMAE W=
2,400,000 » 14! 2,400
DILE 2 ANETUX ELNE Al 15,000 0 15,000
206 M= Hl 15,000 0 15,000
01 =8l 15,000 0 15,000
OZIUE 3 NETX EAME AlE M
= 15,000,000& * Tha*1JH £ 15,000
NEELds & et s ASAIE AR 396,078 344,516 51,562
s 100,000
Al 296,078
tetds ASANEE 2Z 45,180 63,860 A 18,680
101 14l 13,880 42,560 A 28,680
04 JI12ZtHZ22 a2+ 13,880 42,560 228,680
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A m2IE
I sedlsY

Sl NHSHE U BetYs ASAE o (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
DeeleA A2 EA HetAS2H| (S AID}
A) 1,000,000 x12& 12,000
O3 A& &HI KX HI 8,000
DSt s Ald S22 8,000,000 =14l 8,000
206 M = dl 9,000 9,000 0
01 XHZ H| 9,000 9,000 0
OstAsAIE ASIl= HEY XM
100, 000& *305 *3H A~ 9,000
207 S OH 4| 4,000 4,000 0
03 A& A 32H| 4,000 4,000 0
OXZHI LA =3ISA AEARXIH
50,000& *x80= 4,000
SHNESSE 29 41,278 57,536 N 16,258
101 e1214| 8,328 25,536 N 17,208
04 JIZtHI22NEE S 8,328 25,536 N 17,208
SSHMESIES2Y 22 69,4003 *621%x20L 8,328
201 B9 12,250 12,000 250
01 AP 22| H| 7,250 7,000 250
O1 detf=2H| 2,000
PsHNMESSE 29 2,000,000 =14l 2,000
O3 244 5,250
DsYMEWNASE A
210,000 x253| 5,250
02 B232%H| 5,000 5,000 0
O3 A& &H|l S XYl 5,000
DSsHMESSE AEAH KA
500,000& 10 5,000
206 M = Hl 20,000 20,000 0
01 =4l 20,000 20,000 0
O=sgHEnA HMEMS 10,000,000 « 1Al 10,000
OsgHMastsa &9 XA 10,000,000 «1A! 10,000
405 XH&HF S HI 700 0 700
01 XA S B F S| 700 0 700
Of=22e AXNAHI| 700,000 =1CH 700
ANEESE2I Y AlE§AHP 62,000 45,500 16,500
201 gBt2Ad| 4,000 4,000 0
01 AP 22| H| 4,000 4,000 0
O1 Let==2H| 4,000
DHUSE L 24 =T 4,000,000 *14] 4,000
206 M = dl 48,000 31,500 16,500




M sllsn
M gl

S NSSHE L BEYs ASAEY o7 (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 M= 4l 48,000 31,500 16,500
OESHa=> St ASTHHIAIY
1,000,000 *5H 2~ 5,000
OAHH= AIEGIRA ASTHHAIE
1,500,000 =64 2~ 9,000
O2gu A T ASTHE AlY
3,000,000 =74 2 21,000
OSENY U IS H4SAE
1,000,000 *100H 2 10,000
OSaA=E S NEWE AlY
3,000,000 =104 2 3,000
207 O H] 10,000 10,000 0
03 Al & 11HI 10,000 10,000 0
OXNYEs AR 100,000& »20E *53| 10,000
sEXNT Itz 4 200,000 130,000 70,000
s 100,000
Al 100,000
405 RHoHF S HI 200,000 130,000 70,000
s 100,000
Al 100,000
01 AL EZFH S 200,000 130,000 70,000
ORCZEB2AX0 ZZEAD)
155,000, 0002 »1CH 155,000
ras 77,500
Al 77,500
OEY AXEE &l 5,000,000 = 1CH 5,000
s 2,500
Al 2,500
ottora=zdore 20,000,000 = 1CH 20,000
s 10,000
Al 10,000
OAZz2 &3] 20,000,000 = 1CH 20,000
s 10,000
Al 10,000
HE2IZH (sgJl&) 71,499 103,570 A 32,071
el 2 46,655 78,726 A 32,071
ol 2| 46,655 43,975 2,680
101 14l 46,655 43,975 2,680
01 2= 37,077 36,011 1,066
OAlZt 284 10,2993 %1201 x300A| 2t 37,077
03 RIAHAZ 2 E =+ 9,578 7,964 1,614
ogaEzz2+% 9,578
DEABSMA(sHAIA, TsHEE2Y)
14,5123 x 1121 «60 Al 2+ 9,578
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